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of this question paper. ‘

2. Attempt any Five questions.
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4. Ans.w'ers may be written either in English or Hindi;

but the same medium should be used throughout the’
paper. |
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1.  (a) Critically examine the money multiplier ’app_rolach
to money-supply‘ determination in the emerging

" market economies.

(b) Why is thé monéy' .sup'ply curve upWard sloping in

case of endogenous money supply?

(c) The Reserve Bank has released data on sources

and components of Reserve money as on 24%
March 2023 which is givenQ below.-

)

Source/ Component ity o , | Rs. Tr illioni
1. Currency in Circulation : S " 13380
2. Bankers' Deposits with RBI | 868- .
3. ‘Other’ Deposits with RBI | 65
4. RBI Credit to Banks & Commercial Sector 87 '
5. Net Foreign Exchange Assets of RBI 4607
6. Government’s Currency Liabilities to the Public 30
7. Net Non-Monetary Liabilities of RBI 1
: 612
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Using the above data, calculate the Net RBI Credit
to Government and prepare the Balance Sheet of

RBI. What is the major source of Reserve Money?

(6+4+5)
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2. (a) Examine the following conceptual issues in

compilation of monetary aggregates.
(1) Definition of money
(1) Sect‘orisat.ion issue
(iii) Coveragé of Depbsifory corporations

(b)'Wha_t' is Asset _S‘ecurit'isation?‘ What are the

benefits to issuers and investors? (9+6)
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3. (a) What is asymmetric information? What problems

does it give rise to in financial markets?

(b) What is lemons problem in the stock and bond

market? How does moral hazard influence the

financial structure in debf markets? What are

the tools to help solve moral hazard in debt

. contracts? (5+10)
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(a) What are the factors causing financial crisis? How

(b) Longing a call or longing

)“ N s ‘~\\ a4 b . . s - . . .
does it affect economic activity? Explain in this

context the sequence of events in the US Financial

Crisis.

a put option allows the

investor to gain if the price of the underlying asset

rises above the strike price plus the option price.

with the help of tables and
(8+7)

Do you agree? Explain

graphs. -
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5.

(a) Consider an investor who purchases a callable
b}

one ycar bond with face value of Rs. 1000 and

coupon rate 6%. Assume that the market rate of

interest is 5 %. Find the price at which the investor

buys the boﬁd.

Consider two cases separately with market rate

of interest 4% and 10% respectively. When will

the issuer want to call the bond?

Explain with the help of a diagram the relationship

nterest rate and price of bon

_vis the non-callable

between 1 ds when

the bonds are callable vis-a

bonds.

(b) Suppose investors prefér one-year bonds to three-

d will purchase a three-y
ve an additional 3

year bonds an ear bond

only if they expect to recei
urn for holding one-year b

d 4 percent, but

percent over the ret onds.

Currently one-year bonds yiel

his yield to rise to 6 percent

investors expect t

next year and to 8 percent the year after.

pP.T.O.
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(1) Which of the three models of term structurc
1s relevant in this case?

(ii) What is the shape of the yield curve?

(iii) What is the yield on the three-year bond?
(10+5)
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6. (a) Debt instruments differ with respect to their
underlying liquidity. Discuss in this context what
is liquidity risk? How is it factored in the debt

. instruments issued by large vs small corporations?

P.T.O.
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(b) Is the view that it was the risk se

cis valid?
framework of Basel II that caused the Crls.ls Y

Discuss.

c) What -S] 2 W | 1 ks be
( ) I are G Bs* ill any ndian Ban
9 in t xt of
classified as a G-SIB? Discuss in the conte

(6+5+4)
Basel-III norms. | ‘
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7. (a) Using the stylized representation of monetary policy
framework of a change in policy rate explain

various channels of monetary transmission?

(b) Distinguish between Conventional and

Unconventional Monetary policy measures’ Brieﬂ}’

‘discuss any three unconventional monetary policy

- measurcs. (8+7)
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3 Write short notes on any two :

(a) Movement frém Base rate lending system to MCLR

(b) Potential challenges in-implementi.’ng the countér

cyclical capital buffer as per Basel IIl norms.
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(c) Inflation targeting framework 17 e

(3000)



